Sr Questions Answers Choice

A. Very huge
B. Huge
. Enough
. Very very small

1 In quinary economic activity, ratio of manpower is:

. Very huge

. Huge

. Very very huge
. Very small

2 In backward countries, manpower ratio is:

. Is very small

. Is very very small
. Is very huge

. Is huge

3 In industrial and economically developed countries, ratio of manpower:

C

D

A

B

C

D

A

B
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A. 10-40 years
. . . B. 15-45 years

?

4 Which age group of people is considered as manpower? C. 15-50 years
D
A
B
C
D
A
B
C
D
A
B

. 14-64 years

. 1750 AD
. 1850 A.D
.1900 AD
. 1675 AD

5 When did Industrial revolution took place?

. Secondary economic activity
. Primary economic activity

. Tertiary economic activity

. Quaternary economic activity

6 Herding, fishing, mining and agriculture is man's:

. Economic activity became fast
. Development in means of
7 With the beginning of industrial revolution: communication took place
C. Trade activity became fast
. Manpower demand increased

O

. Stone age

. Iron age

. Metals age

. Industrial age

8 Primitive period of man on the earth is called:

. From forest

. By hunting

. From fishing

. From agriculture

9 In the primitive age, man had to collect food for filling his belly:
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